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--- X:/src/SSP-Shulink-RX62N/ssp/kernel_cfg.c 0 611 16:56:05 2014
+++ X:/src/WAIT-SSP/ssp/kernel_cfg.c 0 615 08:22:05 2014
@@-15+1,7 @@
/* kernel_cfg.c */
[l#include "kernel_int.h"
+#include <setjmp.h>
+
#include “kernelimpl.h”
#include "task.h"
#include “kernel unrename.h”

@@ -13,11 +15,11 @@
const [0 _kernel trmax_tskid = (TMIN_TSKID + TNUM TSKID - 1)
-const ATR _kernel_tinib_tskatr[TNUM_TSKID] = {(TA_ACT),(TA_NULL)};

-constuint_t _kernel_init_rdyprmap = 1L
-const intptr_t _kernel_tinib_exinf[TNUM_TSKID} = {Eintp’;r tg(O),(intptr_t)(O)};

-const TASK _kernel tinib_task[TNLIM TSKID = lmain)ltask? )i;
-const uint_t _kernel_tinib_epriority[TNUM_TSKID] = {INT_PRIORITY(1),INT_PRIORITY(1)};
+const ATR kernel tinib_tskatr[TNUM TSKID] = {(TA NULLLTA NULL(TA ACTE

+constuint_t _kernel_init_rdypmap =4U;

+constintptr_t _kernel_tinib_exinf[TNUM_TSKID] = {(intptr_t)(0),(intptr_t)(0),(intptr_t)(0)};
+const TASK _kernel_tinib_task[TNUM_TSKID] = {(task3),(task2),(main)};

+const uint_t kernel_tinib_epriority[TNUM_TSKID] =
[INT_PRIORITY(2JINT PRIORITY(2 LINT PRIORITY(1)}

/*

@@ -43,6 +45,22 @@ STK_T *const _kernel_stk = TOPPERS_STK;

STK_T *const _kernel_istkpt = TOPPERS_ISTKPT(TOPPERS_STK, TOPPERS_STKSZ);
#endif /* TOPPERS_ISTKPT */

+ /%
+* 0000000000 takahashi

+*/

+STK_T task_stack[TNUM_TSKIDJICOUNT STK_T(TASK STACKSZ]]
+
+
+/*
+* 0000000000000 takahashi
+*/

+jmp_buf task_ctx[TNUM_TSKID];

+

+ /%
+* 0000000

+*/

+unsigned char task_wait[TNUM_TSKID];
+

/*
* Module Initialization Function
*/



